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1. Simplify. /.—' 3 C}/ - Z C;fﬁﬂf’ - 7 k
- 39| ., { Goed |’
(39+ GA]
| - 39' = / ; /
ey X /)
Answer: 39 L./
p/‘;
4
ID: Quick Check R.2.4
- "'-_'_'___'_'___'_'_ — ' |
. I
2. Add: -12+8 '
— [2TF < {
-12+8= (Type an integer.) I
_.:;;ﬁ:fztﬁ\\ f $
Answer: -4 - / L/
i
ID: Quick Check R.2.6 LA
o —— iy I
3. Add L,,j:” ,
i ’ |
—(+] < il
—1+1 / / K
71
—1+1= = Ul
- p L*/ |
L/
7
Answer: 0 Vi l“

ID: Quick Check R.2.9

p—

=2

4. Perform the indicated operation.

13-7

13-7=

Answer: 6

ID: Quick Check R.2.17
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\ L/ f/ﬁtrl« et oa/y - //“ 5[4)/. /l{}f’
f /4{7 {/ hoesys f/—’e%__gﬁ"__. '

Wl




finalm 13 14COC148sulsavekellyfoill-Alfredo Alvarez

5. Subtract.
3-4

3-4=

Answer: —1
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ID: Quick Check R.2.1

e —

S —

6.
Subtract the following.

-6-7

Answer: - 13

ID: Quick Check R.2.19

The answer is

— G —
,

C

—

(3 T

Py
~—
—

____H""‘-«.,___

o

7. Perform the indicated operation.
4+(-3)

4+(-3)=

Answer: —12

ID: Quick ChecE R226

4%£ v

3) <

/2 :\\)

-

8. Find the product.
4+15

4.15= (Simplify your answer.)

Answer: 60

ID: Quick Check R.2.27
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9. Multiply.

s G (-0
-9(-8)= - _72 = .17\

Answer: 72

ID: Quick Check R.2.28

a = . :'."A\\ \-\\
10. Use the Distributive Property to remove the parentheses. j KOS GO PR
7 (SKA3 )<

2(5x + 3)

i

Answer: 10x+6

2(5x+3) = < /('7< —+ 6

ID: Quick Check R.2.40

11. Find the absolute value. L -7
5 575

3
7. 7) -
-_— 3 = } ~
(Type an integer or a simplified fraction.)
Answer: 7 - 7 - \>
J— —
3 —
ID: R.2.45

12. Perform the indicated operation. é" / C/) .
o/ — -
6+(-9)
6+(-9)= B e S
— C —S8S¥= N

Answer:. -54

ID: R.2.53
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13. Perform the indicated operation.

~|-4+8)|

-|-4-(8)|= (Simplify your answer.)

-

ID: R.2.71 (

e —————

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

-—/ -y «/X)/x
- | --'_sz/

Answer: - 32 . (‘3(’) =

= ;—.’é - ‘ ‘_E‘\"-_.

14. Perform the indicated operation.

9

~—

o
O

Select the correct choice below and, if necessary, fill in the answer box to complete your choice..

9
A. 0 (Simplify your answer.)

B. The answer is undefined.

Answer: B. The answer is undefined.

ID: R.2.73

15. Perform the indicated operation.

0
7

A w:?d’/ (vred \\

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

0
A. 7= (Simplify your answer.)

B. The answer is undefined.

0
Answer: A. - = 0

7 (Simplify your answer.)

ID: R.2.75
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2P 25,714 1317, - ~

16. Divide the rational numbers. Express the quotient as a rational number in lowest terms.

finalm1314COC148sulsavekellyfoill-Alfredo Alvarez

a’E 2 ¢ .
5.2 $ e LS5 LA s & 3(9
3 9 } Te 7’ - / f 3 2 é_
5§ 25 N
T S 9 - rewk
(Type an integer or a simplified fraction.) 3 ZZS/
2 o 3
Answer: 3 —é‘:— P 3,/
5 5 SRE
5 /% o 3
—_— i
ID: R.3.27 P A
17.  Add the rational numbers. Express the sum as a rational number in lowest terms. %/ /9, 2/ )// § Y, a /( / /7 )
- e &
o 2 - yr
2 7 e L 6 |
5 1 AL ;
) + 12 = (Type an integer or a simplified fraction.) Z- ( 5 (.g f
( /
> /
Answer: 13 ) a4 / é / ) - /
T 24 .
ID: R.3.37 —{r-fZ = Vi ,
-":_._———————"'___—__‘ C r‘.
18. Evaluate the express;)_nx l ,.\_,,/x/ 4 S f _
= >j 7 \
, ( |

(-5)72= (Simplify your answer.) ’/ 5 )('-5) ~

<?>;

Answer: 25

ID: R.4.31

»_—7 {/’_”

_qt ___(;7)/7)/7)(7) - Wé;/w D%
7= (Simplify your answer.) — f‘ 9 ( ]) ( 7) -

—3v2(7)=

Answer. -2401 e ———
ID: R.4.33 '

.

19. Find the value of the expression.
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20. Evaluate the expression.

26y, PENAE

5+2+(6-1) (,7@2 . (5-)
5+2.(6-1)= g—_f /O -
Answer: 15 e

/s
ID: R.4.43 <::‘—‘ T
21. Simplify. -7 [6’ —_ /‘Cf%y)‘z <

-3[(6-(4-5)] =7 [6 o (_/)] —_ )
N — (4 -5Y] = = /"1 4 d
3[6-(4-5)] _3 [6" rvf*/jz // /) S
Answer: -21 _’3 [7] =
ID: R.4.45

22. Evaluate the expression.

Answer: 5

iD: R.4.47

6-CI. gen DA s

619 .

(Type an integer or a simplified fraction.) 3
/5 -
— L —
=2
— J; % “"‘“-.,_\\

pr=

23. Evaluate the expression.

3+[5+3-(5+5)]

3+[5+3+(5+5)]=

Answer: 105

ID: R.4.53

2e/s5+30Crs)( =
o[ s#3= (/0)(<

(Simplify your answer.) 3 [S 2 3(7. j /C /’M D4 S

3. [35) =

/05 = D
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24. Evaluate the algebraic expression for the given value.

x2 -5x+8, forx=7

When x=7, x* - 5x+8=
(Simplify your answer.)

Answer: 22

ID: Quick Check R.5.11

3 https://xlitemprod.pearsoncmg.com/api/v 1/print/math

' = SN+ - )

(7) — sO) 7=
“9 — 35T 7=

/1T

I

25. Simplify the following expression by combining like terms.

4x+2x

4x+2x= (Type a simplified expression.)

Answer: 6x

ID: Quick Check R.5.18

26. Simplify the following expression by combining like terms.

-6x-3x+7-3

-6x-3x+7-3=

Answer: —-9x+4

ID: Quick Check R.5.20

27. Simplify the algebraic expression by combining like terms.

2x - 8x -6y + 14y

2x—-8x—-6y+14y= (Simplify your anf,vg,er, Do not fa,ctor.) |//

X —FTX—6Y
——6X T35 N

Answer: —6x+ 8y

ID: Quick Check R.5.21 C

1/

T/U
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28. Simplify the following expression by combining like terms. - I
// & +3 /% —9 <

11z+3-12z-9 \
o . ~ & —G =
11z+3-12z-9= (Type a simplified expression.)

Answer: —-z-6 ;z — 6 - “\‘

ID: Quick Check R.5.22

£ ‘ £ .
v = T
29. Simplify the following expression by combining like terms. 5[ e X _(c_ —
4x-3-x+5-7x , )( % [ )( + 7><
o — ~7
4x-3-x+5-7x= (Type a simplified expression.) } 3—‘ )<

Answer: —4x+2 .—ASL)( "(_ Q - ’ 3

ID: Quick Check R.5.24

30. Simpilify the following expression by combining like terms. ? ( /(’/ S_) ’Tc' /( =
8(x—5) +x e
i

8(x—-5)+x= (Simplify your answer. Do not factor.) / ( ﬁr S ) 7‘

N —%0 (X<
Answer: 9x—-40 C y

Ty —50 =

ID: Quick Check R.5.25

e

31. Simplify the following expression by combining like terms.

5(z +6) - 62 (( & +6> o é’g -
5(z+6) - 6z= 9((% 7“@) — 6 é

Answer: -z +30 f.% /‘[' 30 — 648 =
ID: Quick Check R 5.26 —(2 +30 <
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32. Simplify the following expression by combining like terms. C( ( 8 ~+ 3 ) "—Cf / 3 'Z‘f; /) ~—
o 4ge) g(le+s) —4(3¢+) =

(Simplify your answer. Do not factor.)

je tey —(22— 7Ty
—4 &40 - )qi““

8(z+3)-4(3z+1)=

Answer: —4z+20

ID: Quick Check R.5.27

33. Simplify the following expression by combining like terms.

- 3(3x-6)-(6x+1)

w7
- 3(3x-6) - (6x+1)= /Y\Dﬂ(

Answer: —15x+17 L

ID: Quick Check R.5.28 "3 (3 */"C) o (6)(%/) -
53 —6) = (641 =
~Gxt+(§ —6xX 7

—«—/S”X\—H?\\}

,_// |
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B
34. Determine which of the foIIoWin@Qmsﬁmﬁ@ the variable. ;.-.r{—rT ) /
. (d) x

(a)x=0 (b)x: -7 (c) ):=d__j _/__J.:_’. =4
Z

Cﬁ L <
x+7 - 7 3
il V1 X7
(a) Is 0 in the domain of the variable? ~7 - :
— -
' No ot — 7
) Yes _:,7__ ~
(b) Is - 7 in the domain of the variable? ,/7
= l e
) Yes ( —
) No —
(c) Is ~ 1 in the domain of the variable? Z =
7 No
) Yes : E =
(d) Is 4 in the domain of the variable? __,7{— 7
7 No ,,--——.:'—"7'
5 Yes - 0 .
Answers Yes o R
No
Yes
Yes

ID: Quick Check R.5.32 \ P N
- = = i e

35. Evaluate the given algebraic expression for x = 8.

9+ 5x

The solution is . (Type an integer.)

Answer: 49

ID: R.5.47

100f60 ~ _  _  ——— 2/10/2020, 2:17 PM
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3. Evaluate the ollowing expression forthe value given. Z)( +3)y — 6=
-2 +3x-6; x= -5 '_Z ("’f) T“}(‘S)‘— Q: <
The expression —2x* +3x -6 evalua whéh { = (== (Type 2 integer.) O A é
N —2(es) 3 /"5'/" 6= (/jW‘ !
— SO0 —/¢ —6 <= |

ID: R.5.49 —6$§—6 = :
7] =)
el et 7 _/

37. Evaluate the expression for the given value of the variable.

|5x - 2| for x= -4 /f)("' Z 7 =
|5x - 2| equals when x= - 4. /5 -—fY/) __
Answer: 22 / =7 0 =

/‘—,2,1/:/

ID: R.5.57
38. Simplify the following expression by combining like terms. 6 é (f g "'f’ 3 _
-6z-4z+3
A
-6z-4z+3= (Simplify your answer. Do not factor.
Answer: -10z+3
ID: R.5.65
T — - / M ___-'_____‘
39. Simplify the following expression by combining like terms. o -é _{_ (7/ / 3 g 7 o
92+4-13z-7 (
SN

9z+4-13z2-7= (Type a simplified expression.) — [74 E% 3 . ) >
Answer: -4z-3 ///

ID: R.5.67

11 of 60 2/10/2020, 2:17 PM



finalm1314COC148sulsavekellyfoill-Alfredo Alvarez https:/xlitemprod.pearsoncmg.com/api/v 1/print/math

P —
40. Simplify the following expression by combining like terms. < / “ Z

e 2 —f T T C

5x+2x -8x+9x

5x + 2x2 -8x+ 9x2 = (Type a simplified expressiar

Answer: 11,2 - 3y

ID: R.5.71

41. Simplify the following expression by combining like terms. ‘5_ ( [/’— 5 ) "f— K ( S’-V ’_( )
5(v-3)+2(5v - 1) <\ — /3’ 7p/o‘/ ’*0’2 z

S5(v-3)+2(5v-1)= (Simplify your answer. Do not factor.) »:)
5 N
Answer. 15v-17 W / 7 . ({/YV\Q

ID: R.5.83

*2: Simplty by factoring L/-—\ \ L &= [717es ﬁ ] 7/7 / Ve
V63 r z (1 ype an exact stzr. :ingg ra’dfgal’s a; needed o\ G 3
ID: Quick Check R6.25 (3 V’7_ = Lu/// _ /

43. The([englhs of the %of@ nght tnanglé are given. Find t ﬁypotenuse
a=16,b=63 a + L C C T x
The hypotenuse is . 6{ / G IS( 47

Answer: 65 (/G) ‘f' (53) C L///

(.

ID: Quick Check R.7.2 3 9 g= ¢
L Db

ép?,zr» c ©

frees =Ko

=
(657 D
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44. Findthéarea Aapdc cumference C pf a circle of radius 10 inches.

"
The area is (1N ——— !ﬂn) ‘f/(/())

(Simplify your answer. Type an exact answer in term

A =T (109
The circumference is (2) /

(Simplify your answer. Type an exact answer in terms of &.)

217
C»iTO%/

M o n?2 @ Oin
O in. ) in2
Answers 100n

(1)in.2
20w
@) in.

ID: Quick Check R.7.8

—

45. Find th@f@wﬁhelght 3in e*s and base 8 lnches.(e-
A= (1)

4)) §quare inches A ~ ’é ( X) (3)
mch'es‘, A — 'ZL: (2/9(/

cubic inches

s A= 0 K/

(1) square inc @ (5/

ID: R.7.29

\

46. Simplify by adding the polynomials. /3/\/ é x’——t-' 5) 7,_ (§{ ——t—( 7)( = (),—
(3x% - 6x+3) + (5x% + 18x - 11) , / H_/(
(3x2—6x+3)+(5x2+18x-11)_ 3)( (a)('-f' 3 _f— ) )\/ _]L f)( <

(Simpify your answer. Do not swer. Do not factor.)

Answer: g,2 4 12x-8

ID: Quick Check R.9.18 / VV\

e e

13 0f60 2,“91-1323 2:17-PM
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47. Simplify by adding. Express your answer as a single polynomial in standard form.

¢
(o-10x+x2) + (-5+ax-62) (G —/0XTX / ”'f'(“"b ~r'</( - Gx’ )r-p
(9'1OX+X2)+(-5+4x—6x2)—M'T()( ——S‘—(«qu gy b =

(Type your answer in standard form.) })( (7
e G AT S QL,
ID: R.9.65
e ——————— I' F? {"
48. Find the product. 3xY ) ( -2 )( ‘7 ) st
@) (-2¢y®) [+7 (/( i)
—( X 9
(3xy) ( - 2x7y6) = (Simplify your answer. )

3

Answer: _ 6x8y7

ID: Quick Check R.10.2

49. Use the distributive property to remove the parentheses. Z??\ ﬁ‘)

-2(x-9)

-2(x-9)= ""2'7( ’_f-/// Y < \
Answer: -2x+ 18 /

ID: Quick Check R.10.4

. o : [ 2
50. Multiply and simplify the expressions. " ( . / .
X L x€ (
X0 + 2% + 2) 77( . Z X )
f_
7x(x2+2x+2)- (Simplify your answer.) 7 )( f /Y )( _’L /Y)( =

_____—__—_—-_L'_“"n

7X o ¥y /YA )

Answer: 7,3 + 14x° + 14x

ID: Quick Check R.10.5

S——————

14 of 60° 2/10/2020, 2:17 PM
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( 4
51. Find the product. —Qac(é (?ﬁ Z:{_, 94“ /é/ ___l é /) —_
& 12 g;-r/é( «f

-2a b(4a +4ab b4) L 7&{ é o 374

4 2 _ ) l & C/ { 'fy_
-2a*b(4a +4ab-b%) = _ (Simplify.your answery—— ‘_) %

$1 ¢ ¢ .
Answer: _ a8 — 8a5p2 + 25%p° @a_é_'fﬁ é -1 2& ‘lé =
fe=0F 7

ID: Quick Check R.10.6
I — i
52. Find the product of the two binomials. ATy ~
(s ((7) =
(x+5)(x+7) ";C"
(x+5)(x+7)= (Simplify your answer.) )( '_[(' 7 7< —f s )( ’7/' ?J’ —
Answer: ,2 .
X2 +12x+35 Q-ﬁ/ll(’/‘?f \
ID: Quick Check R.10.9
e T, ——— —— = __‘_____'—'_‘—‘—————
53. Use the FOIL method to find the product. . ,;;:"/’_’_'h _ %
(5x +6)(5x - 1) /Y){f—{)( 5)/’/)
(5x+6)(5x—1)= (Simplify your answer.) / g’/ — S )( ~t 3() )< - G

L

D
Answer: 25,2 + 25x - 6 @ “T LS X — 6 - ﬁ

ID: Quick Check R.10.10

54. Find the product. /7 O — é 2/ i G A > —_

(7a-b)(a +6Db)

(7Ta-b)(a +6b) = 7@ ,_/_ %ZQL i a é 19 3
Answer: 732 + 41ab - 6b° 7ﬁ ,,c o KL — 5{ 4 T éé —
/,_///’,__—\

i 1 1 2

2/10/2020, 2:17 PM

'-L

15 of 60



finalm1314COC148sulsavekellyfoil 1-Alfredo Alvarez H htlps //xlitemprod.pearsoncmg.com/api/v 1/print/math

55. Find the product of the polynomials. /&? /" g [ rﬁt —f' ‘/‘( -’C)

(a- 7)(5a +4a- 2) )({ = (fﬂ ’“ZE\___EY — ¥y —t/ Y

- =

> . .
—Bla"- 30« %/VE:;T

ID: Quick Check R-19;1_2__,_—-—«—'—""_ —
56. Multiplyenicaﬂy;\ .
N

(3@ +ax+2) (5 +6x+5)

(@a-7)(5a% +4a-2) =

Answer: 553 - 315 - 30a + 14

(x +4x+2) (5x +6x+5) = (Simplify your answer)
s’x g C”Xj—!- [ Zo,( ,(—zvx feox + /w( r [ LX+r> =
Answer: 5% + 26x% + 39x% +32x+10-— —

Cy i+ 2607 39x" %JZKfALf;;T

ID: Quick Check R.10.13 - -

57. Find the product using the difference of two squares formyla:—

(7x+2)(7x-2) <7K%Zl//{ 2) =
(Tx+2)(7Tx-2)= (/q )/L — /}f "4 '—f /?‘/( T

Answer: 49,2 - 4

ID: Quick Check R.10.16

58. Multiply using the rule for the square of a binomial.

(X9
(}(;/OE/F/O) =
’/ox —/oX 7 /00~

(x-10)

(x-10)? =

Answer: x2 _ 20x + 100

ID: Quick Check R.10.21 X — O )(74 /00 - "/

=

--//

e —

o S - —_—
B

e,
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59. Find the product. (2« X-#Z )Z: |
(2x+2)2 ((fjl)_(ﬁZK_;Z/ = YW/ ILQ

@2x+2)% =

Gxt ~+ Y~ YX —+ ¥ =

Answer: 4,2 4 8y +4 C%)(/L _7(, i}(—f ? - ‘ 3

‘/’/,,/

ID: Quick Check R.10.22

60. Find the product. (S_ /( 67

(5x%y) (-5x%y°)

(5x%y) (-5x°%y°) = (Simplif);_y;u%ns r.
Answer: —25x7y4 6; X

Dl-sx W)T
X 7Y o W
A /

ID: R.10.23

.‘:--._

5x(x2 + 7x +4)

5X(x2 + Tx +4) = (Simplify your ansgvar.){

Answer: 53 4 3552 +20x

61. Multiply and simplify the expressions. 5)/ I(/ )( i’{’ 7 X I—,‘- %) - &AV(W

I+ ¢

| N (
“+ 35 x4 2ux'-

ID: R.10.27

—

62. Find the product of the two binomials. /’?—‘T\ \ —
(ri) (xre) =

(x+9)(x+6)
(x+9)(x+6)= (Simplify your answer.)

e

Answer: X2 +15x + 54

XT 9K+ $7r=

K

“——_ 2/10/2020, 2:17 PM
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63. Find the product. (X’/’/ 0}_ Q/’__ 67) =
(x+10)(x—8) X - /X "*f /L)/{ gO _

(x+10)(x—-8) = (Simplify your answe
2_.. \\.ﬂ
Answer: 52 4 oy - 80 X f Ly — 020 L_,)
ID: R.10.37

o '/:H_;'. oy -_“:‘ '_‘\-
64. Use the FOIL method to find the product. (5 XF y) { Sy/'— ( ) -—
(3 + 5)(5x - 1) e
(X =3 X125 XK —f7F

(3x+5)(5x-1)= (Simplify your answer.)
T e \
Answer: 15,2 + 225 - § / T{ _'{' Z l )< S = )
_—//'
ID: R.10.39

\'h_

65. Find the product of the two binomials. (/ Z = /ZK/Y\/I ,-f/u >() —_—
(12 - 13x)(11 + 10x) /32 - //LJ)< VR [ 20 X Z;_“

(12 - 13x)(11+10x)- (Simplify your answer.)
—
Answer: _ 130x? - 23x + 132 (20)/ —23 X + (3¢« )
_”"—//
ID: R.10.41
66. Find the product of the two binomials. 7 . : . =
(44«# S é) /A'— 34/ @
(4a+ 5b)(a - 3b) \_//
[

(4a+5b)(a-3b)= (Simplify your answer.)

Answer: 452 - 7ab - 156 [fﬁ = /2‘6‘4 s O\L —/ Y‘é

ID: R.10.45 m L —) O\L — Sé Z: §
\//

=,
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67. Find the graduc!\_f the polynom;als

(xf4)(x2+2x+8) X - r?:( -—erx ~ X ”f TA+3¢=

(x+4)(x®+2x+8) =

Answer: x3 4 63 +16x + 32

ID: R.10.49

68. Find the’product of the po!ynomlals 5 | .
(da-6) (82 +2; 4 = 326+ 24 —lba —YFa —|ta + 2y =

(4a-6)(8a% +2a-4) =

7 B Z o + 2.4 —
Answer: 3253 _ 4022 28a+24Q2 & %O f j’)

ID: R.10.51

= = ———
69. Find the product of the poI omials.
./p”' s ° o

Gyt GX (U I X~ T XA =

(25 +6x+4) (2x+ 3)

(2x2 +6x+4) (2x+3) = 5 T emmman
gt eextlT = )

NSWET: 443 + 18v2 + 26x + 4 ” /J}( _f

A 4x> +18x° +26x + 12 )( -

ID: R.10.53

70. Multiply vag,rgjjyig--\“\

(% - 8x-4) (6x° +2x+2)

(x -8x- 4) (6x +2x+ 2) = (Simplify your answer.)

Answer: gy* — 46x% - 38x% - 24x - 8

ID: R.10. 59

G X ~{-2/\ > 24" W{"/“'—/u—-zw Zx~a

_____——_

G = CxX 7 — 37 =T
¢ j/

ots0, T 20nn0217PM
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< & f'/_ (é f”) -
ﬂo )[ ) 3L —?6 —3)<

(b-4)b-1)(b+3) L ,_{) (g,'" 2L=3)=% Lo Zi
(b-4)b-1)b+3)= - = [ ,_L/ /) - OZJ I

( I — Z/ J o /
Answer: b3 _ 552 _ 11p+12 g __— ¥

ID: R.10.61 & /Q PQ\L? ”‘*( | [9 (S L::_’_____

' 72. Find the special product. O/_ ((/ ( '( > (/)

(x—4)(x+4) > B
(x-4)(x+4)=_ (Simplify yo X &’( '*/ C
Answer: ,2 _ 46 % — / é P — \ [/L/

71. Find the product.

ID: R.10.65

L

73. Multiply using the rule for the square of a binomial. )//f / Q =

(M/)///f/’):

L x U tlTe=

C+ 20 ¢ %/U/’/

74. Find the special product.

@y -7? (2 7/-iy

(2y-7)2= (Simplify your answer.) ( 7 9 @7 ) ]

Answer: 492 _ 28y + 49 (7, v __/gpj F_/ﬁ - 545‘ -

ID: R.10.69 ¥y _ é B, / _(‘ 7{/)

x+11)

x+11)2 =

—
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75. Multiply. 2 C -+ 3 j) C — 3 -))

(2c + 3g)(2c - 3q) C 2 Z_
(2c+ 3g)(2c - 3g) = (Slmpllfy your answer.) G ci’f" G C ) <
e (4 =g )@
ID: R.10.71
____'-__"-—!—_
76. Multiply using one of the rules for the square of a binomial. 2

oy (5x- fy\'r

e — ($i(~+9)(5x+y)

Answer: 25,2 + 10xy + l SxL —{”5)/‘7 ‘f’K'/C “L\‘/
/
ID: R.10.73 @ i /O )(// 7/4,//

77. Simplify the expression.

(a+6)(a? - 6a + 36)

(a+6)(a? -6a+36) =

Answer: g3 4 246

ID: R.10. 89

((,f()((f f—(cw-%)

G

___._--“_’_Fl — e

e
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78. Determine which of the given numbers are solutions to the equation. f'\HJ\ _ /
[ deohoks) 73 < 77

Is x= — 1 a solution to the equation? - i ——
—f ( — )"f 3 el & /

0 T7+3y 2~ :
v /7;#»-&/ we)

Is x=1 a solution to the equation? ‘ - #uﬁ
=10 +3 =~ ML=

No

Ves _7 3 :~y.<7€9‘“//f//,

Is x =4 a solution to the equation?

No
Yes

Answers No

Yes

No

ID: Quick Check PF.1.3

79. Solve the following equation.
2x+5=15

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The solution set is { } (Type an integer or a simplified fraction.)

B. The solution is all real numbers.

C. The solution is the empty set.

Answer: A. The solution set is { 5 b. (Type an integer or a simplified fraction.)

ID: Quick Check PF.1.8 X7 S £ »
IR/ e # S ey A B B -
K=/
2 X - £

4//ii _gJP T
- ——""'_F//
— 2/10/2020, 2: 17 PN
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80. Solve the following equation and verify your solution. - (f X~ < //

~4x=5=11 —¥ X e T (ST

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

3 = /6

A. The solution set is { }.
(Simplify your answer.) '“’ 7‘>< R / 6
B. The solution is all real numbers. — - ,:—(;_
C. The solution is the empty set. S W

Answer: A. The solution set is 4 -4 b.(Simplify your answer.)

ID: Quick Check PF.1.9

81. Solve the following equation. 6 ‘j "(’Z < >
By+2=5 Gj —~ l S~ g s— 7

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The solution set is { } (Type an integer or a simplified fraction.) j 3

B. The solution is all real numbers. ﬂ gl C
©

C. The solution is the empty set.

1 L
Answer: A. The solution set is { 2 } (Type an integer or a simplified fraction.) . ( ( )

202
ID: Quick Check PF.1.10 l// ’
' = y I

— — — — = — o~ —

82. Solve the following linear equation and verify the solution.
x+y = LXr3 6

'3)(+L+5"
= 21735

Select the correct choice below and, if necesgg ! 7; yhe answer box to complete your choice.

. FX16—6G ~ e+ 36— 6
. Thesolutlonsetls{ } f/( - z’( —+ 3 @)

(Type an integer or a simplified fraction.)

B. The solution is all real numbers. Z/)( 7 2 v Z )<
X —
C. The solution is the empty set. ; )( = }

Answer: A. The solution set is { p. (Type an integer or a srmgllfed fraction.)

( X -
ID: Quick Check PF.1.11

 Dowkowserin X’ > -
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83. Solve the following linear equation. g ( ["— } / 2o
6(x-3)=30 G — [§ = 5=
Select the correct choice below and, if necessary, fill in the answer bg;;,to"-gon‘:plete your choice/ =
X ,._{ (’?‘(’ /d = S 9/
A. The solution set is { } (Type an intéger or a simplified fraction.)

L= 7Y

B. The solution is all real numbers.

C. The solution is the empty set. 6 X — __}/
Answer: A. The solution set is { 8 b. (Type an integer or a simplified fraction.)

X< >

ID: Quick Check PF.1.14

o R .

84. Solve the following linear equation and verify the solution. —Z (/(""Z) .__/ = 5 (,\// 3) =6 5 7
2Rl e 557 U +F~ = SXF/5+37

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
—2X t3 = S+ £
A. Thesolutionsetis{ } ey J(f—f}// j'/(—f 1 2 — 3

(Simplify your answer.)

B. The solution is all real numbers. '-2/9( ~ j—)( "‘f 9“?
C. The solution is the empty set. ""2)( _/y( T Y;( ~ s/ B = il
—7 )( - & 9
Answer: A. The solution set is { -7 p. (Simplify your answer.)
- %X _ 79
= e

ID: Quick Check PF.1.15 —TV .

85. Solve the following linear equation. Be sure to verify your solution. 0 0()(“_" / f” 0 (/;)("”_'/ 3—
0.06x- 1.8=0.03x - 1.2 oo 069(“"//5'/'#/%4- 0:02, —fo 2t

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A e solution set is ) _ J - i
;['-!l:;rpe al'ntmtegetr org decimal.) (7, . O6x — 0,02 = O/M )( S & é - Q_‘_,ﬂ"j X

B. The solution is all real numbers. 0 3X n— '
C. The solution is the empty set. * L e @

Answer: A. The solution set is { 20 b.(Type an integer or a decimal. )(

IA 2L

ID: Quick Check PF.1.23 A 729 e },

2/10/2020, 2:17 PM
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86. Solve the following linear equation. ldentify the e ;ﬁwas an identity, contradiction, or conditional equation,
Z 3(_(({

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

—r Y = L+

A. The solution set is { }. (Type an integer-or a simplified fraction.)

B. The solution is all real numbers. Z}{{ = Z/S('f {/"" 5

C. The solution is the empty set. 2 { ,_; Z _— (f

2(x+4)=2x+4

State whether the equation is an identity, contradiction, or conditional equation.

() ldentity Z( ”_—zx = 8’)( C( ﬂ—é)<
enti
() Contradiction @ #—( ’—tf /g A_D ’M/
() Conditional equation mi—
/s g S
Answers C. The solution is the empty set. / /" S0 b /(-/ /3 A,( £ /%7 j

Contradiction
W 7L /< #
CC:/ <olt c fum F\ AT

ID: Quick Check PF.1.27

— e — == —— = — —_—

87. Solve the following equation and state whether it is an identity, a contradiction, or a conditional equation.

4(x-3)=3x~-12+x ?(k/—— y) = 3y —/2+1IX
g — L = =T X

Select the correct choice below and;"if necessary, fill i in the answer box to complete your choice.

YY1 = ¥x— (L
A. The solution set is {

(Type an integer or a simplified fract}i;an.) S/)(_P ////,- (/ ( (’? (//4/

B. The solution is all real numbers.

C. The solution is the empty set or @. (7[%’: yx

State whether the equation is an identity, contradiction, or conditional equation. Choose the correct choice below.

identity (7/)/ y '( y J( V‘)< "
contradiction 6{ M
conditional equation
Answers B. The solution is all real numbe
identity A( S)/(A 71(-1\ é{/ //?JV
7 m L%/ 3 ///
ID: Quick Check PF.1.28
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B+ Gy < 2

/7/(_/(,5? (,.) /"’7"__(r/

Bx + Gy =M, for x 8/)/ %7 k. G'j

x= (Simpnfyyouranswer.)g/{ — o — - 9 Y¢ W 1
[

88. Solve for the indicated variable.

e R

Answer: M -Gy

5 (/?: MB(/ @/g XZ i El

ID: Quick Check PF.1.34 '

[

89. Solve the following equation. / )("fj - “/5
ox+3=48 IX+E—-3T Y73

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
DX =5
A. The solution set is { - } (Type an integer or a simplified fraction. )

) B. The solution is all real numbers.
() C. The solution is the empty set.

Answer: A. The solution set is -{ 5 } (Type an integer or a si

ID: PF.1.43

90. Solve the following linear equation. s\é "7" % - 3
52+4=3 s ‘f'}f’ﬂ/‘/*i 3=
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A — —/

A. The solution set is { - ,,,_7,}- (Type an integer or a simplified fraction.)

B. The solution is all real numbers. S.— 2_

C. The solution is the empty set.

} (Type an integer or a simplified-fraction.

1
Answer: A. The solution set is { - E

ID: PF.1.45

260f6}0\—/’_ — e — —— 271 mz:l? PM N
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91. Solve the following linear equation. "-7W + ét\/ 7‘6 - ’_/)7
—|tm=rd & =%

-7Tw+6b6w+2=-3

Select the correct choice below and, if necessary, fill in the answer hox to-complete your choice.

—{ Wt 2 — —3 =L

A. The solution set is { } (Type an integer or a simplified fraction.)

B. The solution is all real numbers. ——'( W < — <

C. The solution is the empty set. jw o~ —
gt

=l

Answer: A. The solution set is { 5 b (T ype’antih'teger-en

ID: PF.1.47 @W = 3

92. Solve the following linear equation. 3 ( )("f' ,}) - —
3(x+3)= - —
o (— 9 T = 9

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

Bs(ffﬁ/’f” —¢— g

A. The solution set is { _ _ (Type an integer or a simplified fraction.)

B. The solution is all real numbers. 3 J( — ,_/ )7
C. The solution is the empty set. ' 3 < . /:Z

Answer: A. The solution set i |s (Type an integer.or hfled fraction.)

ID: PF.1.51

[o—

93. Solve the following linear equation. :ﬁ (20) (29) a __.__ (?J)
3y 13 )LLL
)——-IS’C(‘): ﬂﬁ') /

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A
5 30 6

A. The solution set is { 7 } (Type an integer ora srmpiﬂ%ﬁ fraction.)

B. The solution is all real numbers/iy - //j/ﬁﬁ:‘ S 7%/3
C. The solution is the empty set
6{ / 5(? - /3

Answer: A. The solution set is § } ( an integer or a simplified fraction.)
/X7 —7 = S5 ~
ID: PF.1.53 )
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94. Solve the following linear equation. Identify the equation as an identity, contradiction, or conditional &

x 5x 19 ,éx[lﬁl)_f' %(2-((): _ZZ-;L(Z}")

Select the correct choice below and, if necessary, fill in the answer box to complete oujchoice.

)((Q‘})—‘{’ sx ()= /901

A. The solution set is { (Type an integer or a S|mpllf'ed fraction.)

B. The solution is all real numbers. (fj( ,_,L /r/( ol

C. The solution is the empty set. /C; ( — __,/

State whether the equation is an identity, contradiction, or condition_al equation.

& = / 4
Identity .,-Zé-—:/—)é = /-;""”
Contradiction / 7 7 =

Conditional equation

Answers A. The solution set is { -1 } (Typ!

Conditional equation

implified fraction.)

ID: PF.1.69

-—

95. Solve fory.

7xX+y=28
y:

Answer: - 7x+28

ID: PF.1.87

. - e — —

. c_‘_——__-_‘—'—l—_._
96. Solve the equation fory. :

3x+7y=23 )(’//77 = 2/} ‘j
y=__ (Simplify your answe}jx/77 ,-j/” l j 3 /<

Answer: 3 23

ID: PF.1.89

02020, 2:17 PM—
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SO Ve i

97. Factor out Wst common factor, <
il Yo =[5

402 - 12b

_,_.-—‘—"'-_-__-—-_________—__—
— / 3 -
4b2 -12b= (Type your answer in factored fonQ( é )

Answer: 4b(b - 3)

ID: Quick Check PF.2.9

p -.\ ] z-
08 Fact}/the following polynomial. /
= +/ (K+2%
2 ; _
X" +11x+24 C )< _{_
if necessary, ﬁII in'the answer box to com ;12.&

O A. X2+ 11x+24= (Type your answer in factored form.)

02 choice.

Select the correct choice below an

B. The polynomial is prime.

Answer: A. x2 +11x+24= (x+3)(x+8) (Type your answer in factored form.)

ID: Quick Check PF.3.4

99. @ the polynomial.

X2 - 17x+72

A, X*-17x+72=

B. The polynomial is prime.

Answer: A. X2 - 17x+72= (x-9)(x - 8)

ID: Quick Check PF.3.7
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100. <’;"Factmr)the polynomial.
N
X2 -x-T72

Select the correct choice below and, if

OA. X¥-x-72=
(O B. The polynomial is prime.

Answer: A. x> -x-72= (x+8)(x-9)

ID: Quick Check PF.3.8

y & \(‘
101(;Ué’qgadratlceq ahonbychuare/_fri(f /_é[o,)) = 20 {_ZL(/O»,-})(

X +8x=20 [7‘: g’\/_f(({)(: 20T (Q/L

The solution set is { b. { = ZoT / (
(Simplify your answer. Type an exact answer, using radrca!s as eedecl Use integers or fractions for any numbers

in the expression. Use a mwwded )4{ /é e = 24
Answer: 2, —101()(,_7,, ?)(;/-{C// pLA

{Kfﬂ/) 56
ID: PF.5.15 [A/’___—'—”,ﬂ_ Ljf/_?-(,‘

(== 102 Solve)thefollowmgequation = & / 7(_ 6 ( ’(/F_,,/ . ) _ | ?(_) ‘ 6}(— =
19=1+6(x—-12) /C; ( ,7:,6\/‘__ 72,
The solution set is { }/(7 z é ( = 7 /
Answer: 15 / 7—-,«— 7 / - 6)("‘7 [+ 7 (
go < bx

ID: F.2.1

"‘"-q__

103. Solve the equation by factoring. Z, L’f' Z 2 ,_,/ 5L

2% +22-15=0 (@ 3)(.{,&5~) O

What is the solution set? g —% & 04

- }7“5 “or Sy (4

Answer: -5, 3 y A_

ID: F.2.2
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104. Solve the inequality 20 — 2x > 12. Graph the solution set.

In set notation, the solution is {xl } (Type an inequality.)

Graph the solution set. Choose the correct graph below.

) A, et > () g < ——————— >
-9 -3 0 3 6 9 -9 -6 -3 0 3 6 9

-6

() C. - f——————— ) [ € ————————————
18 15 12 9 6 3 0 9 6 3 0 3 6 9

Answers x<4

ID:1.1.4

2/10/2020, 2:17. PM—
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105, Find the following for the function f(x) = ax? +3x -4,

(a) f(0) (b) f(3) (c)f(-3) (d) f(-x)
(e) —f(x) (f) f(x+2) (9) f(5x) (h) f(x+h)
(a) f(0) = (Simplify your answer.)
(b) f(3) = (Simplify your answer.)
(€)f(-3)= (Simplify your answer.)
() f(-x)= (Simplify your answer.)
(e) —f(x)= (Simplify your answer.)
(f) fx+2)= (Simplify your answer.)
(@) f(5%) = (Simplify your answer.)
(h) fix+ h) = (Simplify your answer.)
Answers -4
41
23
4x2 - 3x-4
- 4% -3x+4

4x2 +19x +18
100x2 + 15x - 4

4x? +8hx +4h? + 3x+3h - 4

ID:1.1.43

320f 60 2/10/2020, 2:17 PM
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106. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=3x+5; g(x)=9x -7 (v'/‘f) /'/'}(7’ Z . .
(a) Find (f+ g)(x). rr’x’ =i N </ S / | | \
3ps ) fx-1)c A0, \)

(f+g)(x)= (Slmphfygour answer. ) 35
e e—7= (o2, 02)

3
What is the domain of f + g? Select the currect choice below and, if necessary,fill in the gnswer box to compiete i

your choice. Q / Z {’ - '::‘“1-‘.‘_ L /Vz/ —

A. The domain is {x| b
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) r{/ ﬁ_,/ )/ "‘()
B. The domain is {x| x is any real nu ber}/ 2 - j C ‘() - /f/,_—— ===
(b) Find (f - g)(x). 3 )(,_{ s ) : (C*)(,,“] ) = d Ve g N)
(F-g)(x) = (Simplify your answer) o
"3 — M 7 (yo/)

What is the domain of f— g? Select the correct chonce below and, rf necessary U | in‘the answer box to complete

h L
your choice. ’—6 >( f / Z e \;! B = o
" A. The domain is {x| }. -
(Use integers or fractions for any number; in the expression. Use a comma to separate
answers as needed.) %, /\7'
' B. The domain is {x| x is any real num er} ju/h ot e~
(c) Find (f» g)(x). ATl (”}v—’-’ /,V'“) ™
(fe)=__ (S fy))‘ Lt )( T~ 7) = ‘ 75 _/")
*g)(x)= implify your answer.) o —ee
2 e 2i X + Y3 X —3F <

What is the domain of f« g? Select the correct. cho:oe below and, if necessary, fill in the  answer box to complete

your choice. » 2 7)( 'f' 26’9(_ 3’5— "'/L,

A. The domainis {x| 3.
(Use integers or fractions for any ‘numbers in the express:on Use a comma to separate

answers as needed.) /{/!(j S(/(; (7 ,("’ 7 —
B. The domain is {x| x is any real number}. -~
UFA] =077

(d) Find E] (x). L/t/{ / /{/ /

[é] (x)= (Simplify your-answer) -~ / IX = (7
T—

T 6= J-2- Y domars

What is the domain of — 9 —2 Select the correcjt choice below and, if necessary, fill in the angwer box to cgjzlete your
o ~ L
choice. (/ 7/)/// /Z/V/ /‘/4:' 67‘
A. The domain is {x| /7})//(// =YL

(Use integers or fractions fo any, numbers.in.the expression. Use a comma to Separate =

answers as needed.) - -"' W‘I ‘ Mg/ ((O (]Lg ) J’,/

R Tha damain ia (ol o

-
>

330f60 = i o —— _— 2/10/2020, 2:17 PM
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(e) Find (f + g)(4).

(f+g)4)=
(f) Find (f- g)(3).

(f-9)3)=
(9) Find (f+g)(2).

(f-9)(2)=

] f
(h) Find (g ] (1).

O —

Answers 12x -2
B. The domain is {x
-B6x+12
B. The domain i
27x% +24x - 35

B. The domain is {xl x is any real number}

3x+5
9x-7

, :
A. The domain is {xl x#g ()/ G —

#=5)5)=~6 x4 L
(F=3) (3)= ()1 ¢
(Type an integer c;r a simplified fraction.)

/_~/)(;,) : "/X'f/l//,

—G “\‘* o
(Tflul( nteger on) slmz lified fraction,)

Fsi= 2 ey d=1

9 )Mz)= 27(2)
/‘//@fc’) 27 Ce D —f ;:}/U 3
@i W55 8,10
""/ Je)ye [OF € ¢ f37
/'o 9)(2) *fféﬂ-"Sg

nyreal number} =34 L.»'.‘""-,.-
/ ';‘/ iRt ==

-L_Mﬂal-ﬂumbeﬁ :
(f) )4 G /X/,-
307 s

/)/ N =517

../—\

(Typ Z/en integer or a simplified fractto?) . Ly ( 7 ) = N v

(Use integers or fractions for any numbe ‘1Kt e expression. Use a comma to separate answers as needed.)

46
-6
121

ID:1.1.67

(/)/,) ;L

34 0f 60
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107. Using the given graph of the function f, find the following. ; |
(a) the intercepts, if any ‘f
[

(b) its domain and range L) (
(c) the intervals on which it is increasing, decreasing, or constant ) 1 _’ i o e
(d) whether it is even, odd, or neither 6 S '{ 5 4 X
— - l_=_'T"“ 7
s A / = (/ b)
) L ) /
A//] /u%ﬂ%

1
%/' X’) n ‘O//.,‘
(a) What are the intercept

“1Lo) (/,0) (C’ /)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as neede?
(b)Th@s ( Y am [/ /( V134 F

rans

(Typey wer in mtervai notahon )

Th@ [!.? /3 %’* /4 A "‘*‘) 7@/:(

. your answer in mterval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes
within your choice.

A. Thegraphi mcreasmg on [/ 0] [7 SZ

(Type your a rin interval notation. Us€ a comma to separate answers as needed.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within
your choice.

A. The graph @@n [:3 , "_H/z ['0 ) /:(

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

@ The graph is not constant on any interval. _

-

(d) The function is (1)

(1) neither odd nor even.

e e S
s T

e —

35 ofso_f 2/10/2020, 2:17 PM



finalm1314COC148sulsavekellyfoill-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers (- 1,0),(1,0),(0,1)
[-33]
[0.1]

A. The graph is increasingon [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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108.
(a) Graph f(x) = |x + 6] - 4 using transformations. A
(b) Find the area of the region bounded by f and the '0"
x-axis that lies below the x-axis. 8
(a) Graph f(x). o
(Use the graphing tool provided to graph the function.) 4j
24
(b) The area of the region bounded by f and the x-axis | .
that lies below the x-axis is square —r —r——t —t —r—t o
i — o 8 6 4 2 | 2 4 & 8 10
(Simplify your answer.) '2"
i
,5_
8-

Answers

ID: 1.5.81
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G 3/ Z;2)
7 ¢

109. Find the slope of the line joining the points (0,3) and (2,2). - .
Yy, X
Select the correct choice below and, }nece_sasg[y, filllin.the answer box to complete your choice.
A sl TR g~
s AR bt > gy -
O A. Theslopeis |\ . :‘/_ — 2
(Simplify youranswer) "/ 4

C B. Theslopeis undeﬁned/7/ - ;3 ))“_ Z_ /
(o)—(2)

Answer: A. The slope is =2 (Simplify your ansiver.)

ID: 2.1.2 /77: O~ L

110. Solve the following equation. GC)X’W——?Q() = =7 < X—F Yo >
60x-900= -25x+4200 () /' G G5 = —LS i Y2 U2 + )

The solution set is { . 6 oY T s X ¥ /(O
(Simplify your answer.) | . o o ' o O { ><
6())(-—(—(3’)( T Ay T S/U

Answer: 60 5 )( - f f/ U 7 _\\\
ID: 2.1.4 7@ . S = 6( @ |

7 . = i
3 =

M1 5§ = x2 - 1, find f( - 9). " ]
f(-9)= /()(/ T X _—(

Answer: 80 /
(=%

ID: 2.1.5 ///%‘i) f \/w—ﬁ)(wg) —f
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112.
(a) Find the zero of the linear function and (b) graph the Ay
function using the zero and y-intercept. 12
104
g(x)=3x-9 i
8-
(a) The zero is . 6'-
(Type a whole number.) 4
(b) Use the graphing tool to graph the linear equation. zf N
Use the intercepts when drawing the line. At L . T
f2 <10 -8 6 4 2 4 2 4 & 8 10 12
24
i
B
8-
10-

Answers 3

'D;*-.2'1'21 jﬁ’i? | f/ ~
Qo)==

\J 901
e =9 ST
3gofm
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113.

(a) Find the zero of the linear function and Ay

(b) graph the function using the zero and y-intercept. '3‘_

0~

g(x)=-2x+6 b2

8-

(a) The zero is ; 6'_'

(Type a whole number.) 44

(b) Use the graphing tool to graph the linear equation.
Use the intercepts when drawing the line. [

Answers 3

!
————— e e

40 of 60 — 2/10/2020, 2:17 PM
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114. (F_a/tor,tﬁ'e given polynomial compjly If the polynomial ti:nnot be factored, say that it is prime. /Z)/ l

x2 +5x+6 X ,-,&)5')( _(-_CD - 6/

Select the correct choice below and fill in any answer boxes within yqur choice.

A2y sxege (( fvc)ﬁ}

B. The polynomial is prime.
~hrette— (/(?”Z )(\/(1"7) _

X L—x LY+ IX+ 6=

ID: 2.3.1 X //’!’X—fﬂ_« 6"90(/(

Answer: A x> +5x+6=  (x+3)(x+2)

115. he equation. /? Y/y o O

OR SK+(= o
. e Al e 5771/4:07

The solution set is { } (Use a comma to separate answers as needed.)

Answer: 1 @ OM j—;(
i

S
ID:2.3.3 )(/'-:- ..h/:ﬁ ‘\‘

116.

41 of 60

Find the@f the following qw facto?@,What are the x-intercepts of the graph of the =
1

function -

Select the correct choice below and fill in the answer box to complete yourchojce
(Simplify your answer. Use a comma to separate answers as needed:)

f(x) = x° - 15x

Y—/ =<

The zeros and the x-intercepts are different. The zeros ate

A
are

B. The zeros and the x-intercepts are the same. They are

Answer: B. The zeros and the x-intercepts are the same. They are 0,15

ID: 2.3.13
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———
117. Find th@ the tdratlc funymn by Ug.)}\lhat are the x-intercepts of the graph of the function?

g0 =x% -1 =) )(C—‘{ ()() —-(/) = D

Select the correct choice below and fill in the answer box to complete your choice. ( ) ( /\/ —f )
(Use a comma to separate answers as needed. Type an integer or a simplified fractton )

o
A. The zeros and the x-intercepts are the same. They are X ¢d { =) aa /t/

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
are . X{/"”L"‘)‘/ aﬂ, )(ﬁ—/ﬂf(\‘/a_-#
), O
Answer: A. The zeros and the x-intercepts are( a(f-are o 1-1 4 @
6{ —-—l k \‘\K& y/’h L4
0:2885 o g _2,)/5-—&) - -
118. Find the ro? ow@unctlon by(factoring’ What are the x-intercepts of the graph of the fur\r:t:on7

Fo=lx-0 X K~z

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

The zeros and the x-intercepts are different. The zeros are - , the x-intercepts

X 9 (x=5) =

B. The zeros and the x-intercepts are the same. They a? / f(’ J/ —C = 7
Yt = O
Answer: B. The zeros and the x-intercepts are the same. They are -45

(¥4 =0Y O  fsrx = O
"‘9‘\ on CH=5 D

119. Find th@ adratic fu—atlon factoringg. What are the x-intercepts of the graph of the function?

g(x)=3x% - x -2 )( —X—2 (39(%‘ L)()("“ ‘) )

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

1 A. The zeros and the x-intercepts are the same. They are )? J( (5 / - A /(// -

A

ID: 2.3.17

The zeros and the x-intercepts are different. The zeros are _ , the x-intercepts

are ‘ 3)(—%2'—6 - /Z /\/ (rf/ = 0‘7‘/
b O

Answer: A. The zeros and the x-intercepts are the same. They are

ID:2.3.19
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120. Find th{vzeros oﬁ'the followmg’quadrat:c funcnon by factormg What are the x-intercepts of jhe grapJ'n of the

function - )( ,_/_ q/(’f//”k; S,Gi _ /U/y 4/(’7
g(x) =x(x +9) + 14 ()( f ;\,D (_x;"‘-f' /) ~ ( )

Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer. Use a comma to separate nswers as needed ) —_ “a_. B
= 5 T Y
() A. The zeros and the x-intercepts are the same (Thezy are ¢ "( /T 1 / = =
The zeros and the x-intercepts are different. The zeros are , the x-intercepts
B.

. {gautdﬁ/(»f//O/
X"y N ("/(_’-“”’7 A

Answer: A. The zeros and the x-intercepts are the'same. Theyare = -2,-7 g e

ID: 2.3.23

121. Find theipzeros of lhe(quadratac functlon using the square root method What are the x-intercepts of the graph of the
function? )

g(x) = (x-6)° - 9 — ()(_C’) ( il N

h |

Select the correct choice below and fill in the answer box to complete your choice

(Simplify your answer, including any radicals. Use integers or fractions for any nymbers in the expression. Use a
comma to separate answers as needed.)

x
A. The zeros and the x-intercepts are the same. They are 2
The zeros and the x-intercepts are different. The zeros are , the x-intercepts
B.
are ; ,
A
Answer: A. The zeros and the x-intercepts are the same. They are 9,3
(X C) —7 =
ID: 2.3.29
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%/ '1'/0

R
122. Fin the zeros, if any, of therquadratlc function usin the@uﬁﬂ'réﬁ Form“"lé “What are the x-intercepts, if any, of the

graph-of- the function? _. ,{ 9’7_____ \i_/\)/‘cﬁ‘v o
f(x)=4x° +5 +10x ﬁ é‘ Fec Y. —~(10) tl,% 7(%) (3/ “/07‘(/ Do~ FO

Select the correct choice below and, if fit ecessary, fill in tHe answer box to complete your choice. d
(Simplify your answer, including any radicals. Use mtegers (o) ractlo?for any numbers in the expression. Use a

comma to separate answers as needed.) l/f s ¢ C\/L» 2 / 24 — —-Z_(}_i&__‘__—_ S
g

+ A. The zeros and the x-intercepts are the same. They are

. . = =0 fef.
- The zeros and the x-intercepts are different. The zeros are - , the x-intercepts.
(JB. are . V,@j
= == e O,_T : el
7y €. There is no real zero solution and no x-intercept. —/—Hj%i{g___

/u"f'ZL/_—

8 5 .
Answer: A. The zeresand the x—mtercepts are the same. They are

~=S PN T= ;v 5’+/ R(-S >~r2a?u?)
@ ( | ) \_‘2\(&)

ID: 2.3.47 ?

—— —— -*" —_—— —
123. Find the (?I zeros of théguadratlc funcl ,d’n usmg any.method you wish. What arethe x- mtercepts fany, of the =5

graph of the funiction? (/X‘ OX’ '1”! /V —/ <)(’” _ .’7//’ 74( ‘\c.\
G(x)=10x7 +19x - 15 ‘/“)) Z ’_/ C=/ __2a "
Select the correct choice bglow and fill in the-answer box to mplWee )l/ ”‘(/ q) /(/ ﬂ/’ V(/ U)/ =/ s)
&\L;(b (\ | Zéi/)’?’hzg J 2(/(/

A. The zeros and the x-intercepts are the same. They are /

The zeros and the x-intercepts are different. The zeros are the x-mtsrce ts
() B. are P Y (_Fpg_ (/gé / + (Ou

(Simplify your answer, including any radicals. Use integers or fractions for a r‘umbers in the expression. Use a
comma to separate answers as needed.)

v
)( 20

Answer: A. The zeros and the x-intercepts are the same. They are, -

e &-_— s 3f
ID: 2.3.81 (C’ /

Ee= /r‘*

Zv

b N

kY
)

e

ey
2/10/2020, 2:17 PM
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E*Cm '( )*lm”’s

124. Find the(feal solutions of the followi tion. .
. Fin eal solutions of the following equation. “A.~

g = 2 2 ( 0’)

8x° +2x-15=0 \n\h
as tr&h o én & mi_,\d if fil in th |
electthe correct choice below and, if necessary, fill in the answer box to complete youranswer /*
— = g ‘/ 7’ f/()
' A. The real solutions are ; /¢ -

. Use acomma to
= —LtJ%sy

—

(Simplify your answer. Type an exact answer, using radicals as need
separate answers as needed.)

{1 B. There are no real solutions. /6
_ 356
Answer: A. The real solutions are ~2'2 /6
(Simplify your answer. Type an exact an needed. Use a comma to separate
answers as needed.) - f N | ——i '(' ¢ —~2 —¢¢L
52 - T/ /6

. \ - 2¢Y (g 4
D242 7¢ 74

125. Match the graph with the following function.
_.2
fi(x)=x"-8x+16

Choose the correct graph below.

Answer:

ID:2.4.15

\—%j-‘_'_ ’4\—_/';‘1/_‘_-—’ /—\_///\0 =
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126.  Match the function f(x) = x2 - 6x to one of the given graphs.

ID:2.4.19
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{
l\} /,F’ér the quadratic function f(x) = X - 4x - 5, answer parts .}n_fy
~ (a) through (c). .

(a) Graph the quadratic function by determining whether its 12
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any. 8
Does the graph of f open up or down? 4
i X
up 20 16 12 8 4 1 4 & 12 16 20
down i
4

What are the coordinates of the vertex?

The vertex of the parabola is
(Type an ordered pair. Use integers or fractlons for any 1b~
numbers in the expression.) ]

207
What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

{b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it

ie Aarraacin~
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Answers up ‘:)((— ﬁm
(2,-9)
xX=2

Sw:jr;zsz “{‘l/a)ua
Y e A
(J'l S(—'l'uv M’)

A. The y-intercept is -5 .(Type an integer or a decimal.

A. The x-intercept(s) is/are 5-1
(Type an integer or a decimal. Use a comma to separ:

49 of 60 2/10/2020, 2:17 PM
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v

4./

or the quadratic function f(x) = x +6x + 9, answer parts
(a) through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?
up
down

What are the coordinates of the vertex?

The vertex of the parabola is
(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of fis .
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

510f60

https://xlitemprod.pearsoncmg.com/api/v 1/print/math
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Answers up
(=30
x=-3

9

A. The y-intercept is

A. The x-intercept(s) is/are
(Type an integer or a decimal. Use a comma to separate answers as needed.)

S

3.0 —~ eX
(7o 73 'X(// e — 17
%)

D248 % s }4,4,/ > /J

f@/(' /ng? ;
/(A/é \ ] \._hw
W&ng a (DS L , & w
Nnioh )= A = /7L- g 71_
5@9/ art %l X/ k/ e

A
ayw/ & y Jw,;#fﬂﬁfff”””#fi;,//”f
%A{ ﬂ(ﬁ\7 - : J&Z@g ; 7//

7 Am{/} Aa;/ ) >
< M
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129. Solve the following inequality. Graph the solution set. ’7)('— <f > ; /
7x-4>31 Vi e YFsf > 3 k-
The solution is . 7)( 7 S0
(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)
Choose the graph of the inequality below. X > 2_5—

,..;7- 7
A, - g € f——
12 9 6 3 0 3 6 9 12

29 6 3 0 3 6 9 12

O e, m-ﬁ-!-ﬁ-]-H—b—H—HaQD «-i—-a—n-—a—-n-)-{—e—f—;—n—n—r—»
9

Answers (5,00) <,/>_( >
e p - ——— ' "g"-@

A 129 6 3 0 3 6 9 12 ___A"’_//--"
ID: 2.8.4 CS’)_'_;: ) )

130 Find f( - 6) if f(x) = 4x> + 4x + 5.
f(-6)= (Simplify your answer. Type an integer or a fraction.) ~
Answer: 125 )(/X) = c/’)( 'L'7L Y«‘(/ i /(— 6’(‘)
ID: 3.2.1 f/(ﬂ_é) (// {;) ﬂf- V/ ()- 'f) ")
P e o e T e
(g) =¥ (36D F ¥(—6)FX

H-g)e [TF—2¥ 75 .
)= TR )¢

ik

T

\\H
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131. Use the ra onal zeros theorem all the (al zeros of the polynion rmal funclmn Use the zeri:s’l?factar f—OVé;'__ N

the real num {1 .._5 — ([ —SV 5 #14 ’t’/ .

\4_\>( 5‘4,’ ?Ielj i\/‘) C ) ‘;— ;} 3 . (L_h o / , :,)
f(x)= xC —5x% - 61x - 55 -—é —s O/x C 5:&_";’_,! +3 ’C’Tj

&y Lty
Find the real zeros of f. Select the T rrect’chonce below and, if necessary, fill in the answer box to complete your

™ WD T L

A. x= — | O NT
M , _ 095!

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or _~
fractions for any rational numbers in the expression. Use a comma to separate answ;rs’as

needed.) X/ / / = O

(1 B. There are  no real zeros.

MSe Soptbetoc Qo ~[~ 1= OT f/

Use-the real zeros to factor f, ),)
X’, //
f(x)=

(Simplify your answer. Type your answer in factored forn form Type an exact answer, using radicals as needed. U
integers or fractions for any rational numbers in the expression.) {" 1S -~ )

P Pl W /
Answers A. x= -5, =1, 11 A*-ll—\i_

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for
any rational numbers in the expression. Use a comma to separate answers as needed.)

(x+1)(x+5)(x—11)

ID: 3.2.45

—— i ’ —

—— e _ S
132. Solve the equation i th@xm@g&y&em. =

2 _14x+130=0 e
X “ le e fY C /3> oo Z..r.\‘

a 5
The solution set is { / b. (Use a comma to separate answers as needed.)

Answer: 7-9i,7+91 /'— P—//Y) . [/\/C() B V/W""

| 21
ID: 3.3.2 /‘: /Y 7T ;//7{,*2’",1,
e
X = /[rZ “*527

Ve /zf’,4
X /
(\ /_2 ,.,a-—"l/

<7%4
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133. {Solve the inequality. Express your answer using set notation or interval notation. Graph the solution set.
9-4xs -7 49— Yy é’“"7
Choose the correct answer below that is the solution se t/o;he lnequallty _z s ‘
() A, {x]x= -4}or[-4,00) r )( :_, ' /(
() B. {x|x=-16}or[-16,00) L/
(1 C. {x|x<4}or(4,00) — X > ”'/C
(0 D. {x|x=4}or[4,00) ,({ ——g/
Choose the correct graph below that is the solution set to the inequality. o —
Z¢
) A, - ————— ) 3 Cp—————-—
29 21 18 5 12 9 8 30 3 6 9
U Q. - ——— ) ) .
3 3 6 9 9 6 3 0 3 6 9
S _ -._:_‘“‘“x..
_/H N
Answers D. {x|x24} or [4,00) 42
- =1
c 9 6 -3 0 3 6 9 (::##fppgégf' tg>é%90 ﬁﬁx&‘nh
- / -
ID: 3.6.1
. e Foosalie. & , i
134. ~Evaluate the following expressioy, if possible. 3 I
2/3 Z 7 = & 3 =
27 )
[} e
Select the correct choice below and fill in any answer boxes in your choice. -
\, rl -
VAL 9273 2 (3/
2
' B. The solution is not a real number. =
WA
. >
Answer: A. 272’(3 = 9 | ( %) /M“)O wt
ID: Quick Check P4.1.10 ; 3 /
s

135. Given h(x) = 2x* - 3x + 3, find h( - 3). 2 / )
h(-3)= A/ 3/ = 2(-3) —3(°3/73
A= ) TS

Answer: SOh(’_ 2 C‘)) -—5 "3/’7“

ID: 4.1.1 /)(’3) T3
/,l/,_)": ?/77‘2 s
{ o = m——
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N =z @ | rf,,w

136{ Solve by using the quadratlc fon'nulh /0 I /0U _(,/ﬂ

{ x2-10x-39=0 /{, d{_f)_/j__j'd 5’/7)/ 5‘?) - ’fz
A= @, C329 2« —~ 10 /Pt

T’héf solutlon/éet is . ) = V756 )
(Simplify your answer. Use a comma to separate answers as needed Express mplex nun%'ers in terms of i.
Type an exact answer, using radlcals as needed) & 0t / é

=§y N x-g [,’J
Answer: - _

DY st
\\

ID: 4.6.1 N

-—

137. (\F.actor the given po!_y@_mﬂ I_Jy rémoving the wm@gn monomlal f@_&a

9x +63 7{'f6j:

9x+63= . ?(/(—f 7) - b

Answer: 9(x+7)

ID: A4.9

138. @ given @ynomial comple}EIy; If the polynomial cannot be factored, say that it is prime.

. A ¢
x2 +12x+35 / 0SS (f\
Select the correct choice below and fill in any ans.werZ boxes within your choice. \
v —F F_ =
OA 2, 1ox+35= /—//Z ,(/—"(’]

O B. The polynomialis prime. ( )( _f_ Sj &Z);,/

’Answer: A x2+12x+35'w C h{’crc y =

ID: A.4.43 ()(,( Y)(/(ﬁz 7) - |
S XA ST |
X A (16+35 < |

(/’Z?Jd'/( /

a'/l

~
|
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139K\‘ Factor the Wym ial compleﬁy /lf the polynomial cannot be factored, say that it is prime. f// ) S8 ?“

x +20x+19

Select the correct choice below and fill in any answer boxes wﬁhﬁ‘u_ ou: choice. \"ﬁ

. €c /
A 24 20x+19= 6/ 'f’ j/ ) £
. B. The polynomial is prime. (ﬂ X 'f/ 4 j )( / , "

= )
Answer: A X2 +20x+19= (x+1 x+1) )( { [~ f/
\ )( o= L) K /9 =
&Z’J ¢

ID: A.4.45

—

- — = - —
A

140, ﬁactorthtigl_v_e_rlggl_mgg'ﬂal /( 7{_9 Krf =
X2 +9x+ 14 \/: X;‘f‘ Z)’lz :+7

Select the correct choice below and, i swer.box-withi

=a ( }\ < (!

j: B: ;h;:zl;r:njial is Erime. ( T Z )O{ﬁf 7) By e
¥t 7)6 + T/

Answer: A. X2 +9x+ 14 = (x+2)t'{+7) ,( Y /)(’74/% —~ |

ID: A4.47 C oJ C’;/(

S—— _‘E—:-_:_ — E——— —

ot " €
a1 v o oo X 7K

X2 -9x+14 y 2
Select the correct choice below and, if n ill in ,th&an er box w;lhlﬂ_[Qu ice:
(/) €< ( /{/ (/}( ) [
A. 32 _gx+14= | { 5 ?

B. The polynomial is prime.

Answer: A. x° -9x+14=  (x-T7)(x-2)

ID: A.4.49

SO T H0n020,ZTTPM
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e R N = 7 <
146@t;tortohe trinomial. .~ X — 1<

"

-

X2 - x-42

Select the correct choice below and/fill in any answer boxes within your choice.

C:/ €C(c : £ 2o
I AL X-x-42= B ()(f%7> a
7 B. The trinomial is prime. (\ )(1 ,#7)< +C A — C,ﬂz <
\n X AL

Answer: A, x° - x-42 = (x+ 6)(:;&._— 7) 2 -
N v T
ID: A4.51 N 6@@0}%

143. Factorthe given polynomial complatg!y,,’lf the polygomial cannot be factored, say that it is prime.
x? +4x-21 X =2 ) | /
Select the correct choice below amm: pog;@ﬁ' ou:Z' ce-
2 Chede (=) (Xot) =
DA 2 ax-21= _ N2 —

) B. The polynomial is prime. X tf«f 7 X —3X—C =
a& 2 B
Answer: A. x> +4x-21=  (x-3)(x+7) )( #/#9//('___)\ / <

Gooc!

144, Factor the given polynomial complate_lg) the-pelynemial-canno

6 +11x+4 w2

Select the correct choice below and fillinany r:hax?gmlhtn your choice.
A e +11x+4= n A z Y,
| 6xU 43X TILA ¢

CX T KTy <

Goed

ID: A.4.53

—N

red, say that it is prime.
2. L o

-~

M

) B. The polynomial is prime.

Answer: A. 6x° + 11x+ 4= (3x +4)(2x 't 1)

ID: A4.61
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:T*“‘\—ﬂ,. : —
145! Facggr,the%{i{*en polynomial completely. If the polynomial cannot be factored, say that.i "l',-
- A
E (/ (S /

5+ 104 D 6‘/ — )//,fcz/ )
Select the correct choice @any a swg,umxesw;ﬂn'\vou{ choice.
Chele ) [ §e— €7 C T
A 5l +19x-4= A \)\-_/f/ )

- u

4 f,)(,L___(/ Z/JK"'(')("(L/ -
A (IH— E

) B. The polynomial is prime.

Answer: A, 5x2 +19x-4= (5x-1)(x

ID: A.4.65
L—F—_ — -

—

146.<-jFa_c_tqr the given polynomial. t

X2 ~10x +24

C/H"( («

Select the correct choice below and, if necefry. fillin-the-ansWer-box withiﬁ?éﬁi’“chq{pe.

=+ N e ) —
(\_)A X2"10X+24= N ~—

Y S ALy

) B. The polynomial is prime.

ID: A.4.85

& e

— = = ——y —— ~ = = —

147, @fgthb given expression. Assume that all variables are positive.

5fx35y25 7 Tt -

5-\} x35_ 25 = (Type an exact answer, using radicals as needed.)
—_— e - Q( !
Answer: x7y5 € /E: AL ,/é( /L)Lv '(,//
<
ID: A.7.25 S /
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148. Find tﬁé real solutions of the equation:.

VSx—S ¥;4 =

What is the solution set? Select the correct choice below and fill in any answer boxes in your choice.

O A.

(Simplify your answer. Use a comma to separate answers as needed.)
QO B. There are no real solutions.

Answer. A.{_ 3} (Simplfy your answer Use a comma o separate answers as needed)
ID: A.8.47 (f[/?;-’_7 (; {5/) v
2/ —d © /6 |
gt (677
o=
FA = =5
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